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T T T T I T
E ean 0as7a Wean 05062 03591 E Vean 01795 iean 03094
I RUS 4301 I RMS 5047 1 sz E 1 RMS 5093 1 RMS 3506
[ X ot e | X Indt 3048 | X fnat 8176 4 I X Indt 64148 | X ot 45148
1 Constant 60622 0052 10" b ! Constant 5766 2 0049 10" b I Constant 597620056 1 Constant 5741 0048 10" b ! Constant 62482 0062
1 Siope 002335+ 000063 1 Slope 00176+ 00005 1 Siope 0023112 000073 I Siope 0017123 000059 I Slope 0029842 0.00085
1 ] 1 1 1
10¢ = 10¢ b 10¢ b I
1 1
1 1
10p 10p 10p 1
1 1
L E 1 1
1 1 L s 1y L 1 s s L . 1 1 1 L 1y
50 00 50 700 50 00 50 200 ES 00 50 200
ADC-ped ADC-ped ADC-ped
'SMD(a) 10U116 , inclusive ADC, tube=10S1-12:16 | _aI0UITo 'SMD(a) 10U117, inclusive ADC, tube=10S3-01:12 | _aT0UTT 'SMD(a) 10U118 , inclusive ADC, tube=1053-02:05 | AI0UTT: SMD(a) 10U120, inclusive ADC, tube=1053-04:05 [ 2T0U1Z0
E ean 01672 Wean 03232 iean 01055 ean 08267
F 1 RuS as1s 1 RS a6 1 RuS 3506 1 RuS azs1
I Jndt 3173108 s X ndt 651148 | X fndt 466148 s X ot 007148
1 Constant 5902+ 0052 10° b 1 Constant 5620+ 0053 10° 1 Constant 604320059 10° b 1 Constant 59542 0051
| Siope 002083+ 0.00067 | Siope 0019962 0.00067 | Siope 002513: 0.00079 | Siope 0021562 0.00065
] 1 1 1
10 b 1 100 b
1 1
1 1
10k 1 10k
1
L 1
1 1 1 1 1 1 1
50 00 50

200
ADC-ped

1 L \ L
2 ( EY 06 50

200
ADC-ped

s L L1
50 100 150 200
ADC-ped

L
100

200
ADC-ped

L L
50 100 50

200
ADC-ped




[[SVO@ T0UT2T melusive ADC, Whe=1083- 0512 ZX00rzT [SVOt@ 100122 meTusive ADC. twhe= ATOT [SVO@ 100123 - Telusive ADC, he=1053-07 12_J 2200 [[SVDT@) 100127 meTusive ADC, he=1053-06:05_| ZX00rzT [[SDT@) T0UTZ5  elusive ADC. tube=1053-09.12_J x0T
T T , T T o
E ean 0709 Wean 01885 iean 01507 E Vean 01180 iean 08167
F I RUS 4420 I RMS 4735 I RuS 4108 F I RUS 31 I RuS 4007
¥ Indt s211a8 s X ndt 375148 s ¥ foat 5434 /48 X ndt 4806148 . X ot s189/48
1 Constant 58462 0055 0 ! Constant 5782005 0" b ! Constant 58560058 1 Constant 6022006 10 1 Constant 59592 0056
| Siope. 00207+ 0.0007 I Siope 0018993 0.00064 I Siope 0022432 0.00075 1 Slope 902545+ 000079 1 Slope 0023693 0.00073
I 1 1 1 1 1 1
I 10¢ b I 10 | 1 100 I
I 1 1 1 1 1
I 1 1 1 1 1
I 10 I 10 I 10 I
I 1 1 1 1
L I 1 1 E 1 1 1
1 I 1 1y s 1y L 1 s y 1y . 1 1y L i s 1 I L 1y L
50 00 50 700 50 00 50 200 0 50 00 150 ‘200 ES 00 50 700
ADC-ped ADC-ped ADC-ped ADC-ped
SMD(a) 100126 , Inclusive ADC, ube=1053-10:05 | 2100126 [SVD(@ 100127 imclusive ADC, ube=105511-12_| &100T [SD(@ 100125 _nciusive ADC, tube=1053-12:05_| 2100T [[SVD(@) 100125 inclusive ADC, tube=1051-01.15 | 2100129 [[SVO@ 100130 Tnclusive ADC, be=1051-02:04_| 2100130
ean 0879 Wean 06579 iean 07516 E Vean 08439
F 1 RuS e 1 Ris 002 1 RuS azr F 1 RS
Jndt 6855 /48 . X ndt 319148 . X fndt 550348 X nat 576148 .
1 Constant 5622+ 0050 07 ! Constant 5778+ 0056 10° 1 Constant 581420052 1 Constant 563620051 00 b
| Siope 001687 000061 | Sope 0021332 0.00071 | Siope 002045+ 0.00065 | Siope 001733+ 000063
1 1 1 I 1
107 b= 1 107 b=
1 1
1 1
1 1 10} I 10h
1 1 1
F 1 1 1 F
1 N L Ly | 1 1 | 1 | L L 1 L L s 1 L L
EY 00 50 700 50 00 50 700 0 50 00 50 200 50 00 50 200 50 00 50 200
ADC-ped ADC-ped ADC-ped ADC-ped ADC-ped
[[SVDt T0UT3T . melusive ADC, twhe=1051-03.13_| AI00m3T [SVDt) 100132 melusive ADC. twhe=T051-04:04_| 200t 50 [[SVDt) 100137 melusive ADC. whe=T051-06:04_| Z10013% [[SD(@) T0UTS5 _nelusive ADC. tube=1051-0713_J AI00T
E ean 02622 Mean oors72 E ean 001477 ean 01961
F 1 g5 1 F 1 RMS as64 1 ™ a9
5554148 . ! 4319148 . X nat 4516148 . 5394148
1 Constant 5697 0053 107 b I Constant 589:0. 10 1 Constant 5952006 0° b I Constant 5872006
1 Siope 001847 000066 | siope 0022833 0.00073 I Siope 0024752 000076 | Siope 0023982 000076
i 1 1 1
10: | 10
i 1
i 1
J 1 10 I 10
i 1 1
F i 1 1 F
1 iy L Iy | 1 1 s L 1 s | Ly 1 s L Ly L Iy
EY 00 50 200 50 00 150 700 50 00 50 200 50 00 50 200 50 00 T50 700
ADC-ped ADC-ped ADC-ped ADC-ped ADC-ped
SMD(a) 100136 , inclusive ADC, tUbe=10S1-08:04 | 2100136 SMID(a) 10U137 , nclusive ADC, Ube=1053-01:04 | 2I00T [[S™D(@ 100138  clusive ADC, tube=1053-0213_| 2100 SMD(@) 100139 , inclusive ADC, (Ube=1053-03:04 | 2100139 SMD(a) 100140, inclusive ADC, ube=1053-04:13 | 2100140
E ean 0sa79 Mean o091 iean 00096 E Vean 02196 Mean 05149
F 1 RMS 3438 1 RIS 223 1 RMS 283 F 1 RMS 3568 1 RMS aads
X Indt 5084148 . X Indt 052147 s 7508 /48 X ot 4227148 . X ot 6061128
I Constant 5936+ 0.064 10" b I Constant 61:01 107 b= I Constant 6162008 I Constant 5724+ 0.064 107 b I Constant 5599+ 0.055
1 Siope 002665+ 000087 1 Siope 0042342000171 1 Stope 0036142 000112 1 Siope 002576+ 000084 1 Siope 001808 0.00068
1 1 1 1 1 1 ] 1
10¢ b 10¢ b 1 1 100 I
1 1 1 ] 1
1 1 1 ]
0 10 1 [l 10 I I
1 ] 1
F 1 F ] 1
1 L 1 s s 1 1 s 1 s L i 1 i L 1y L
0 50 00 150 200 50 00 150 200 50 00 150 200 50 00 150 200 50 00 150 200
ADC-ped ADC-ped ADC-ped ADC-ped ADC-ped
SMD(a) 100141 , inclusive ADC, Ube=1053-09:06 SMID(a) 100142 , nclusive ADC, [Ube=1053 1011 SMD(a) 100143 , Inclusive ADC, lUbe=1053-11:06 | ST00IR: SMD(@) 100144 , Inclusive ADC, Ube=1053-12:11 | 2100127 SMID(a) 100145 , Inclusive ADC, [Ube=1053-05:04 | aI0UTa5
T T I T 7 T
ean 05401 Wean 05196 iean 005215 E Vean 001 iean 068
F I RUS 4556 I RMS 4123 1 RMS 353 F 1 RMS 3439 1 RMS 3941
¥ Indt 969148 s X ndt 6131148 s ¥ foat a052/48 X Indt s404/48 . X ot 5675/ 48
I Constant 5721 0055 0" b I Constant 5392006 10° I Constant 567720083 1 Constant 58422 0067 0° b 1 Constant 5662005
1 Siope. 0015473 0.00066 1 Sope 0015542 000068 I Siope 002585+ 0.00084 1 Slope 002659+ 000091 I Slope 0021032 000072
1 1 1 1 1 1 ] 1
107 = 10¢ = I 1 10 b 1
1 1 1 1 ] 1
1 1 1 1 ]
10 10 I 1 10 Il
1 1 ] 1
1 1 E 1 ] 1
1 s s 1y L 1 1 y 1y 1 1y L i s 1 I L 1y L
50 00 50 700 50 00 50 200 50 00 150 200 ES 00 50 700
ADC-ped ADC-ped ADC-ped ADC-ped
'SMD(a) 10U147 , inclusive ADC, tube=10S3-07:04 | aI0017 'SMD(a) 10U148 , inclusive ADC, tube=1053-08:13 [ 2100148 'SMD(a) 10U149 , inclusive ADC, tube=10S3-09:04 [ aT0UT40 'SMD(a) 10U150 , inclusive ADC, tube=1053-10:13 [ 2I0U150
ean o818 Wean 02817 iean 08511 E Vean 033
F 1 RuS s 1 RS a0a1 1 RuS as27 F 1 RS as6s
Jndt e . X ndt a3sera . X2 rndt 21148 x sa321a8 .
1 Constant 5267 0055 0° b 1 Constant 561320058 00 1 Constant 571420060 1 Constant 55195 0058 0° b
| Siope 00143+ 00007 | Slope 0020252 0.00074 | Siope 0022232 0.00077 I siope 0020072 000074
1 I 1 1
107 b= 107 b= 107 b=
I
I
10 I 10 10
I
L I
I 1 1 1 1
50 00 50

1 i L 1 s 1 1 | 1 1 s | 1L s L Ly
0 50 T00 150 200 50 00 150 200 0 50 100 150 200 50 100 150 200 200
ADC-ped ADC-ped ADC-ped ADC-ped ADC-ped



I SMD(a) 100151, inclusive ADC, tube=10S3-11:04 I SMD(a) 10U152, inclusive ADC, tube=1053-12:13 I SMD(a) 10U153 , inclusive ADC, tube=10S1-01:05 | a100T I 'SMD(a) 10U154 , inclusive ADC, tube=10S1-02:12 AT00TST I SMD(a) 10U155 , inclusive ADC, tube=1051-03:05 AI00T:
, T = T = v
007049 Wean o138 iean 00354 Vean 08256 iean 02703
E 1 RM 2919 1 RS 348 E 1 Rus 4513 1 Rus a3
s X ndt 914 s ¥ foat 367148 X ndt 7013148 . ¥ Indt 3829148
10" I Constant 5588+ 0,059 107 b= I Constant 5658 007 I Constant 5058+ 0,061 107 = 1 Canstant 52452 0062
1 Slope 00205t 00007 | Stope. 0.02401: 0.00085 1 Slope 001297+ 000072 I Siope 0016431 000076
1 1 1 1 1 1
107 | 1 107 1 107 fm
1 1 1 1 1
1 ! 1 1 1
10p= I 1 10 I 10p= 1 1
1 1 1 1 1 1
[ 1 1 1 1 [ 1 1
1 L 1 1 s 1y L 1 1y s 1y 1 L 1 1y L 1y L
50 100 150 200 50 100 150 200 50 100 150 200 50 100 150 20( 50 100 150 200
ADC-ped ADC-ped ADC-ped ADC-ped ADC-ped
SMD(a) 100156 , inclusive ADC, ube=1051-04:12 | 2100156 [SVD(@ 100157, imclusive ADC, ube=1051-08:13_| &100T [SD(@) 100156 . nciusive ADC, ube=105110:04_| 1007 [[SVD(@) 100158 imclusive ADC, tube=1081 1115 | 210019 [SVO 100T60_ Tnclusive ADC, be=1051-12:04_| 2100160
ean 02743 Wean 0715 iean 06785 Vean 01126 ean 01652
E 1 RuS aszr 1 Ris 302 1 RuS 4129 E 1 RS a2 1 RuS 262
Jndt 5209148 . X ndt 478148 . X2 ot 38148 X nat 031148 . ¥ Ind s767/48
1 Constant 510240059 10k 1 Constant 55032 0061 107 b 1 Constant 2 1 Constant 5155008 10 ! Constant 5527+ 0085
| Siope 001377 000071 1 Sope 0021224 0.00077 | Siope 001563+ 0.00074 | Siope 0015342 000078 1 Siope 001962 0.00082
1 1 1 1 1 1 1
100 b 1 107 | 107 b 1
1 1 1 1 1
1 1 1 1
10p= 1 10 1 10p= 1
1 1 1 1 1
F 1 1 [ 1 1 1 1
1 § L L \ 1 1y s 1y 1 s L L 1 in L 1y L 1 1y L 1y
0 50 100 150 200 50 100 150 200 0 50 100 150 200 50 100 150 200 50 100 150 200
ADC-ped ADC-ped ADC-ped ADC-ped ADC-ped
[[SMD® T0UT6T inclusive ADC, twbe=1083-0115_| ZI00Ter [SP® T0UI6Z inclusive ADC ube=1 02 |_A100T%: [Eoe [[5VO® 100163 inclusive ADC, tube=1 2:02 |_A100167 [SVD@ 10UT65 nclusive ADC, tube=1053-05:15_| 210010
3 ean 05108 Mean o620 3 ean o0u52 ean 04ss3
E 1 R 3760 1 sz E 1 RMS 3407 1 s ass2
x 5134148 . ¢ ot 5864148 . X nat 3669148 . 6443148
I Constant 53392 0,061 10° 1 Constant 55320, 10 1 Constant 5372007 10° 1 Constant 53662 0063
| Siope 001893+ 000080 | Siope 002267 0.00088 | Siope 002117+ 000085 | Siope 0020262 0.00079
1 1 1 | 1 1 1
10% = 1 10% 1 10% b= 1
1 1 1 1 1 1
1 1 ] 1 1
1 10 1 10 10 1
1 1 1 1 1
[ 1 1 1 [ 1 1
1 1y L 1 s 1 1 s 1y 1 3 s 1 s L 1y L 1 1y L 1y L
0 50 100 150 200 50 100 150 200 0 50 100 150 50 100 150 0 50 100 150
ADC-ped ADC-ped

200
ADC-ped

200
ADC-ped

200
ADC-ped

SMD(a) 100166 , inclusive ADC, tUbe=1053-06:02 | 2100166 SMD(@) 100167 , inclusive ADC, ube=1053-07:15 | 210016, [[SD(@ 100168  inclusive ADC, tube=1053-08:02_| 210018
ean o678 Mean oag7 iean 02653
F 1 RMS 2529 1 RIS 3305 1 RMS 3151
s X Indt o214 . X Indt 535148 . X fnat 6706 /48
10 I Constant 59652 0092 10" b I Constant 5372007 10° b= I Constant 548640067
1 Slope. 003557+ 0.00134 1 Slope 0.0215¢ 0.0009 1 Slope. 0.02385: 0.00088.
1 1 1
10 10: b
1
1
10 I 10k
1
F 1
1 1 L L 1 s s 1y s s 1y
50 00 150 200 50 00 50 200 o 50 00 150 200
ADC-ped ADC-ped ADC-ped
SMD(a) 100171 , inclusive ADC, Ube=1053-03:09 | aI0UL7T SMD(@) 100172, Inclusive ADC, (ube=" AT00T SMD(@) 100173 , Inclusive ADC, WUbe=1053-09:15 | 2100L
T T I T
ean 006702 Wean 03516 iean 03705
F I RUS I RS aso2 1 RMS 330
X ot a8 s X ndt 3004148 s X fnat a140/a8
1 Constant 5217+ 0069 10" I Constant 5082007 107 b= I Constant 513840070
1 Stope. 00197+ 0.0009 I Slope 0016492 0.00081 I Siope 001925+ 0.00087
i 1 1 1 1 1
1 100 b 1 107 b 1
i 1 1 1 1 1
i 1 1 1 1
i 10k 1 I 10k 1
i 1 1 1 1 1
L i 1 1 1 1 1
1 1y L 1 s 1 i s 1y L 1 1L y 1y A
EY 00 50 200 50 00 50 200 0 50 00 50 200
ADC-ped ADC-ped ADC-ped

'SMD(a) 10U176, inclusive ADC, tube=10S3-12:02 | aI0U176

Mean
RS
Inat
Constant
siope

07476,
2078

3969/48

5363+ 0.076
0.02359: 0.00100

200
ADC-ped

20

'SMD(a) 10U177 , inclusive ADC, tube=10S3-05:09 | 2I00T

01656
a1

a1la8
5431008
-0.02459: 0.00104

Vean
I RMS
s X Indt
10" f 1 Constant
I Slope
1 1
100 b 1
1
1
10

200
ADC-ped

SMID(a) 100169 , mclusive ADC, be=1053-01:09 | 210060
Vean 0237
F 1 RuS 3420
y X ndt 3076146
10 1 Constant 5.2641 0.069
1 Siope. 00206 0,0009
]

s L 1y
50 00 150 200
ADC-ped

'SMD(a) 10U170 , Inclusive ADC, tube=1053-02:08 | 2100170
Mean o078
I RS 33
. X fnat
10 b= I Constant 5.271¢ 0,070
I Stope 002072+ 0.00090
1

L I
50 100 150 200
ADC-ped

SMD(a) 100174 , Inclusive ADC, tube=1053-10:02 @Ul z
Mean 0.1656
F I RMS 3.462
s 5356/ 48
10 1 Constant  5.157+ 0.070
1 Slope 0019 + 0.001
F 1 1
10 1
1
F 1 1
10| I
1 1
L 1 1
1 1y L i A
50 00 150 200

ADC-ped

SMD(a) 10U178, inclusive ADC, tube=1053-06:08 | 2100178

Mean
RS
Xt fnat

Stope

002584 000106

1
I Constant
1
1

200
ADC-ped

'SMD(a) 10U179 , inclusive ADC, tube=10S3-07:09 [ 2T0UL70
Vean 02201
E 1 RS
X1 614148
1 Constant 5235+ 0079
| siope 0023042 000103
1

200
ADC-ped

SMID(a) 10UL75 , Inclusive ADC, tube=1053-11:15 |_al0uT
iean 01135
I RuS 3z
s X ot 6762/48
107 b= I Constant 52722 0071
1 Slope 0021732 0.00092
1 1
100 b 1
1
1 1
10k 1
1
1 1
1 I L 1y
ES 00 50 700

ADC-ped

'SMD(a) 10U180 , inclusive ADC, tube=1053-08:08 [ 2I0U1E0
ean 0102
1 RuS 2069
. $ Ino 4061148
0° b I Constant 51972 0076
| Slope 0022172 0.00098
1 1
100 | 1 1
1
1 1
10p= 1
1
1
1 1 L
50 00 50

200
ADC-ped



[STO@ 1008T elusive ADC, tube=1083-05:09 [S0@ 100182 melusive ADC, the=1053-10:08 [STD& 100183 helusive ADC, tube=1083-11:09_| 2100 [[SVDOT@) 100187 mclusive ADC, tube=1053-12:08_| ZL00TeT [0 100185 Treusive ADC, ube=1051-05:05_| 20T
I TR T IO
F Mean 05693 Viean o6ms Mean 03401 F Mean 03271 Vean 04502
[ I RUS 3117 I RMS 3407 RuS 3497 [ RUS 2022 I RuS 3437
f X 92118 y X Indt 15148 . X fnat 631948 X I 0alas . X ot o7/48
e I Constant 53532 0074 0 I Constant 49712 0074 0 Constant 4992007 Constant 52535 0080 0 I Constant 49962 0077
1 Siope 002351+ 000097 1 Sope 001697+ 000091 Stope. 0018022 000091 Siope 0023573 000105 I Siope 90185+ 00010
L 1 1 1 1 1
10 1 107 b= 107 b= 1 10 107 b=
1 1 )
1 1 1 1
10 1 10 10 10) 10 I
1 1 1
L 1 1 L 1
1 1y I s 1 s 1 L 1 s y I . 1 s L 1y 1 1 L I s
0 50 00 50 200 50 00 150 200 o 50 00 150 200 50 00 150 200 50 00 50 200
ADC-ped ADC-ped ADC-ped ADC-ped ADC-ped
SMD(a) 100186 , Inclusive ADC, ube=1051-06:12 | 2100186 [P T0UI87 inclusive ADC, Tube=1051-07:05_| Z10UTE [[5VD@ 100188 nclusive ADC. tube=10S1-08:12_| Z100T [[SVO@ T0UI89  inclusive ADC. fube=1051-09:05 | ZI00TEY [(SVD@ 10UTS0  inclusive ADC. tube=10ST-10:12_| 2100150
r Mean 04359 Vean 0.1023 Mean 08166 r Mean 01716
[ I RuS RMS azs1 I RuS ass7 [ I RMS 3.266
Ind 5632 /48 . X Indt d654148 . X fndt 4266148 X* I ndf 44.32/48 .
1 Constant a6z 0074 e Constant 5057+ 0075 0 E 1 Constant 483620073 ! Constant 4893+ 0.077 0
I Siope 001531+ 0.00089 Slope 0019722 000095 I Siope 001557+ 000089 I Slope __ -0.018 + 0.001
1 1 ] 1
1 1 Il 1 10 b=
1
1
10

1 L L s L 1 L 1y
0 50 00 50 200 50 00 50 700 0 50 00 50 200 50 00 50 200 50 00 50 700
ADC-ped ADC-ped ADC-ped ADC-ped ADC-ped
[[SVD( T0UT9T  mclusive ADC, twhe=T05111:05_| AI00ToT [SVDt@) 100192 melusive ADC, whe=105112.12_| 200t [[SVDt 100193 - melusive ADC, twhe=1053-01:07_J 210015 [[SVDt) 100192 metusive ADC. twhe=1 0 [ 20T [ T0UTS5 _elusive ADC. tube=1053-03:07_| 21001
r ean 04473 Mean 01689 r ean 03698 ean o021
F 1 3325 1 s 3204 F 1 RMS a1 1 s ast
7472148 . Inc 5763148 . . X nat 4694148 . 5268148
1 Constant 4776+ 0077 e 1 Constant 46052 0082 0 E 10 1 Constant 45073 0080 0 E I Constant 4512 0084
| Siope 001692+ 000035 | siope 001586+ 0.00101 | Siope 0014342 00009 I Siope 0014842 0.00102
1 1 1 1 |
1 10 1 107 b= 107 1 1 I
1
1 L 1 1 |
0k 1 10f 10 1 1
1 1 |
L 1 L 1 |
1 y 1y s 1 1 s L L 1 s 1 1§ L 1y L 1 Iy L 1y L
0 50 00 50 50 00 150 50 00 50 50 00 50 50 00 T50

200
ADC-ped

200
ADC-ped

200
ADC-ped

SMID(a) 10U196 , inclusive ADC, (ube=1053-04:10 | 100196

04085
3215

7263148

4566 0083
0015632 0.00101

0002123
2561

90.1148

52521 0,002
002823+ 0.00125

'SMD(a) 10U206 , inclusive ADC, tube=10S3-10:10 | aT00208

Mean
RS
Inat
Constant
siope

03328
3367

4273148

4579+ 0.082
0.01514: 0.00100

200
ADC-ped

20

SMD(a) 10U197 , inclusive ADC, ube=1053-05:07 | _aI00T9.

[[5ViD@) 100198, inclusive ADC, wbe=1083-06:10_| 10T

Vean 05609
RIS 3212
. X Indt 3077148
e Constant 453720077
Siope 0013914 0.00092
10t b=
10k
1 s s 1y L
50 00 50 200
ADC-ped
05475
3443
y 752148
0 45052 0,080
0.0133: 0.0010
107 b=
10

'SMD(a) 10U207 , inclusive ADC, tube=1053-11:07 | 2100

200
ADC-ped

Mean
RS

X Inat
Constant
Siope

03656
2077

3.6148

4643+ 0088
0017323 0.00109

200
ADC-ped

ean
1 RS
0 I Constant
1 Siope.
1
10% = 1
1
10 1
1
1
1 T s 1y
50 100 150

01556
2450

516440003
002661+ 000125

200
ADC-ped

SMD(a) 100203 , INClusive ADC, WUhe=1053-03:01 | 210020

01585
2795
4687148
49090084
002169+ 000108

ean
| s
s X [ndf
107 I Constant
| Siope
| 1
107 b= 1 1
1
1
10 )

s s L
50 100 150

200
ADC-ped

'SMD(a) 10U208 , inclusive ADC, tube=1053-12:10 | 2100208

02007
3051

6002148

4601+ 0.085
0.01689: 000105

e
| i
3 X [ndf
107 I Constant
i siope
|
0 [
10

s L L1
50 100 150

200
ADC-ped

200
ADC-ped

SMD(a) 100199 , inclusive ADC, Ube=1053-07:07 | aI00I99

200
ADC-ped

0260
349

59148

4631 0077
001525 0.00083

s L 1y
50 00 150

200
ADC-ped
SMD
F Mean 03896
[ 1 MS 3257
ndf 4262148
I Constant  4.622+ 0.080
1 Slope  -0.016 + 0.001
1 1
10 1 1
1
1 1
10| 1
1
L 1
1 1l L 1y s
50 00 150 200
ADC-ped

'SMD(a) 10U209 , inclusive ADC, tube=10S3-05:01 [ 2100200
F Vean
[ 1 RS
Xt
1 Constant
| siope
L 1
10 1
10

001109
3412

546148

4415% 0085
001359 0.00103

200
ADC-ped

SMD(a) 100200, inclusive ADC, ube=1053-06:10 | 2100200

iean
1 RuS
s ¥ Indt
0 I Constant
I Stope
|
10: b 1
10f

03438
3084

5014148

47662 0081
001839+ 0.00101

1 L I L
50 100 150 200
ADC-ped
SMD(a) 100205 , Inclusive ADC, WUbe=1053-09:07
Vean 02759
I RuS 3367
. X ot 96 /48
10° b 1 Constant 45472 0.081
I Slope 0014272 0.00097
1 1
107 b= 1 1
1
1 1
10 1
1 1
1 1
1 in L I s
50 00 50 200

ADC-ped

SMD(a) 100210, inclusive ADC, tube=10S3-06:16 | 2100210

0005602
015

ean
RuS

w | ¢ in

100 b

10k

200
ADC-ped



| SMD(a) 10U211 , inclusive ADC, tube=1053-07.01 |_aI00ZIT | SMD(a) 100212 , Inclusive ADC, tube=. 16 |_2I00ZL | SMD(a) 100213 , Inclusive ADC, 1ube=1053-00:01 | 21002 | SMD(a) 10U214 , inclusive ADC, tube=1053-10:16 |_a10021% | SMD(a) 100215 , Inclusive ADC, 1ube=1053-11.01
= T = T =" = 7T
F Mean 04179 Viean 07564 iean 02515 F Vean 01671 iean 05903
E 1 RMS 296 I RMS 2819 I RuS 2705 [ I RUS 2828 I RuS 2318
X ot 118108 y X Indt s032/48 . X fnat 489548 f X I 5153148 . X I
1 Constant 46672 0,084 0 I Constant 4477+ 0080 0 1 Constant as1 0091 0 E i Constant 456320001 0 F 1 Constant 50552 0087
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